
#Stoke's theorem

Recall circulation Greens

Notice Solcurl FaRe dA is a surf integral for #lt) = 17, y,08 as S for cray) ED
so Slo curlE.€ dA = Is curli -ds

Then If it is a d'ver field in iS and S is a piecewise
oriented surf withboundary as, then

las F-di = Ifs curl F-dis
[proof same as Green's ]

smoth ] Viz. circulation Greens
works in PR3
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#Independence of surface
Them For field with curl eurivec

SS, curt F dis = SSs, curl E dis
,s and s'oriented surfaces with some boundary as=as",

so we only care about curl a boundary

If as =$, then Iscurls-ds=o

If S closed, as=
div curl # =0
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